1460 380

120

1700

120

1900

380,

120

1630 1}180

|

,L|450 |380)

2900

6330

11 18520 180,|,,|
+1,5m
; = 416 1327 422 1 =S8 — 4 )
: i S 424 || = :jﬂ 430 [ ) CT]
41 1 :'41 4 0 41 5 41 2 - @ : Ej@ 425 Elészoba 433 @ 435
Nappali Clgg @ Nappali 80 —} E & Nappali tb=16°C —ng‘gn— *;f%hg “
tb=20+1°C - th=20+1°C 196 ﬂ th=20+1°C Q=477 W u l7=0 (;=_7 i s
Q=1861 W QL Q=891 W 491 218 - —= Q=1424 W S
H= i o
=] | w0 || 4o {% 1 P 431
Q=414 W % - %0
g e
Q=1024 W
|380) 4600 ) 2900 | ]asol] 2200 ] 2000 Ll 1400 ] 3400 ] :?355 L | 1600 Ll 1600 L] 1900 |380]
{120 120 ~\120 \250 {120 {120 250 \250 {120 {120
L 27780 }
Helyiség | Funkcidja Tb Qt
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413 Konyha 18 728
414 Furdoszoba 24 423
415 WC 18 -42
416 El6szoba 16 472
422 Furdoszoba 24 434
423 Konyha 18 538
424 El6szoba 16 507
433 Furdoszoba 24 416
434 WC 18 08
435 Konyha 18 737
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